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M HY2IAZH (KX D)
¢ A2HY (MY _ASZ) (&)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
-2 3 (3 AH) 100,000 » 1 »23] 200
-2 200,000& »3H 600
A2 QLA(AMEAIEA) 80,000 x2H 160
OZFA 22X HEES 10,750
-=Z 40,000& *50H 2,000
oA E 25,000& x50H 1,250
-—RYd=E=Edg 20,000& 50 1,000
-HE 22 130,000& x50 6,500
O3Sz MUz XA
40,0003 »63H 2,520
OZ22& IS s UHEY 11,000, 000& 11,000
ZHEOIAH (MK EH U _ANSZ) 8,985,665 9,402,270 A 416,605
303 Z& = 2,100,000 1,850,000 250,000
Huad=s 2,100,000 1,850,000 250,000
O&UaNHS 2,100,000
- B 2,060,000, 000& 2,060,000
-HAZE 40,000,000& 40,000
04 ASRE=S 6,885,665 7,552,270 A 666,605
01 HA32EE3 5,622,876 6,337,600 AT14,724
Og=2E= 3,099, 187,000 3,099,187
OoedZ 814,998,000 814,998
Of 2+ 23 1,640,686,000& 1,640,686
OMo24 2= 68,005,000& 68,005
02 SCALEES 1,262,789 1,214,670 48,119
OHZEE 2E3 98,000,000& x12& 1,176,000
OEINRYEE 2= 1,176,000,000& +7.38% 86,789
[2ZH(AHXSEHU_ANESZ) 89,775 88,335 1,440
JI2ZH(MHXEEU_ASZ) 89,775 88,335 1,440
203 ¥R =&l 89,775 88,335 1,440
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02 A H 2= 31,475 30,035 1,440
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2 *255%)
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I =AYl (X8 & ) 104,500 88,780 15,720
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01 At 22l 25,000 25,000 0
OFRAN2E AR 22| 25,000,000& 25,000
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